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Question 1

3LEOMEo 256350 3HGds: 30698530308 oMM 5TMEIBIL HoeTmoygbls ----- .
Select one:

a. bbgyarol 8gdsmgmdol 3sblsbmzms LogMEgdo ™Mol bgdoldog dmdgbEdo

b. Ubgmwol 35@05g0mgdol sblsbmg®s ®mol 63doLdog® dmdgbEdo

C. bbgmaolb dmd®smdol dglfogams

d. Ubgmeol g50s5y0wgdol Jgbfiagers

Question 2

F90056>0@05 0099 (300560

w930l bbgwmeols, dsbomsb 5393806090 Bs3MmMm®mObsEHM LobGHIsl s WEOMOL
SLomM3g bgabsfymlb gHmmdomdsdo, 9fim@gds sm3zol Lol gds".

Select one:
True

False

Question 3

6oEbzom 360336900mdqdL J9Lsd53gm LoEY309M0 ILEbYEGdgdO:

RE

10°° d9BH®o Answer 1| Choose...

107" 8gey60 Answer 2| Ooose- £
107% 8yey60 Answer 31 e |
10% 8g¢60  Answer 4l choose- =
107" 950 Answer 51 S0 =
107" 9990 Answer 6l O E
107% 8yey60 Answer 71 e =l

Question 4

397L5059900 dIMB30m0 FMIOSMBOL OML FgMEH0wol Jobslbosmgdgwo foMmomo

booggdo (%1 Vs 1) 3mmbuyé oowggdl:

a'TAnswer 1“ Choose... j|
S Answer 2| Choose- El

1! Answer 3“ Choose... j



http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-6}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-12}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-3}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-1}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-9}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10^{-2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s,v,a_/tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_/tau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
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Question 5
F900500305 079 3060
#0019630000 IMIM>Md0L EOHML Bbgol yzgws HoMGH0wo dMmdMsMdL gOMBsomO
LoBJoMom s 9MHMBs0MO sBdo@gdom.™
Select one:
True
False
Question 6
3999L5059900 IOMEHOOEO FNIMSMOOL EsTobILOSMYOJE BODBOIMM LOEOEYIOL
A®59dBH™OM0o0l Im3gdne HgOEHowdo 30356 gdgd0:

LoBdotg Answer 1| Choose... j
A962963050 0 5BJo0M9d5 Answer 2| Choose... j
BOR2RIOLYO> Answer 3| 0% =]
BoGdserito BdsGgds  Answer 4l hoose- -
Question /

39bLBE3MGm Fysmo Bbgrmwol dGrmbzomo dmdMmsmdOL ML Fomoo LoBdsmgls s
3Mobe LobJsMgl FmGmOl FMIOIOIES (R 560U fO9fomol HoomLo)
(8mb08bgom 3 3s5Lvgbo):

Select one or more:

a.V = wrsin o

b.V = wsina

.V=w/R
d.V = Rw

e. V= [": ] F]
SV = o]
Question 8

ALY 5OEGHOMMMOOL 3M1063030L MbsHT>, CMTg0s LMo 2obdsGEgds:
Select one:

a. bbgyyarms LobEgdol dsbs GHMEos Fow3gyer Bbgmems dslgdols xsdol

b. Lbgmems LobEgdol dobs gEos 3oEw3gme bbgryems doligdol xsd%y

C. bbgmwoms LolGgdol dsbs Gmaros dsligdols xsdol

d. bbgmaoms bobGgdol dsbs 6539008 3¢39me bbgumamms dslindol xsdby


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V%3D/omega r/sin{/alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V%3D/omega /sin{/alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V%3D/omega/R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V%3DR/omega
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{V}%3D/begin{bmatrix}/vec{/omega}/cdot/vec{r}/end{bmatrix}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=V%3D/begin{bmatrix}/omega{r}/end{bmatrix}
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Question 9

1301037900 LoEOY, ®MIJwoi HoMdmsgbl Lbgmmol 0bgMH oo ©s

30530353040 M3090930L BmAsl  sGOls:
Select one:

a. Hmbs

b. boBdstrg

C. Qobo

d. dogs

Question 10

QLMo 2o63oMBHGds:

4390 sm3col bLobGgds, GMmIgeroi ImdMsmdL HOB035© s
0565065 0bgmHE0wo LobGgdol Jodsmm s6Hob ——— .

Select one:

a. 550696300
b. mddmsgo

C. 0BM0MHY00
d. obgdgomwo

Question 11
LOMEgo 296356 Fgds -
doems 56Ol 033Mwlols (33ogds ----- .

Select one:

a. 3933999 dsbdoe by

b. 3963300¢ 06(H)H3swdo

C. LogMmEoL A9M3399E SM9do

d. ©@O™Ob 33M3397@ Br)segedo
Question 12

LMo 29635 3HGds: ©IRMOTo305L 9hHmYds WEMY390, M) doeols

dmgd9gdol Fgfigzad ol 899wgy bbgrwo 5@owagbl msgol -----

35Lvbo).

Select one or more:
a. 3063569 Labgls
b. 306356 Fmbsls
C. 30M35bgam sbisly

(8mb0o8bgo 3



-

1 0 0 T
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d. 30635609 bmdsls
€. 3003569 BmMIsL

Question 13
F900500305 079 30560
»9306M9 LoBJsMOL Fgdmbggzsd0, bobbol dsrs LoBJsMOL 3MM3MMEOMEos .

Select one:
True

False

Question 14
@oLOMEIm 63O B (9mboBBgm 2 3sbbo):

3O30GEON 39T0 0530LYBIO BHIIO FOWISWYOL YOS ZJLOL ---==
Select one or more:

a. 3m@gb305¢0ol oBOEOL d0T>MmMNYYHO0!

b. @odse0 3630006 Fowoeolsznb

C. 350050 3m@Fgb305w0Esb d5E0ols396

d. 3m@9630seol 899300980 J0B5OHMYgd0m

Question 15

@LOMEIm obdsOBHBds: bgdoldogHo Mo M1 @s T2 Fsbiol bbgmeol go®dndm
5OLgOMAL FoBYH0SEMMO 4oM9gdm, L3 Mgl 0hgbl JoBOWMEIMdOL doergdols
9tg0990s. 58 33GHJMH0SMO A56M9dmbL 9hmgds ----- .

Select one:

a. 3M30HIFOVLO IO

b. 3sb0@ Mo 3gwo

C. 99JHONO 3o

d. gwadHOMbEHEH03GO 390

Question 16

9399 BMOIMEIdL Jgodsdgo Ealobgmgdgdo:
m&" = F — F‘,r,, — F}.-Answer 1| Choose...

i:l
Fo=mwr Answer 2| 0~

Led Lo L

Fi. = 2muvwsina  Answer 3| Choose...


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m/vec{a}'%3D/vec{F}-/vec{F_k}-/vec{F_c}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F_c%3Dm{{/omega}^2}r
http://testing.gtu.ge/filter/tex/displaytex.php?texexp={/vec{F}_k}%3D2mv{/omega}sin{/alpha}
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Question 17

3905 oI 3L GOMIMEO (SI ) 9ODIN@DS LEYOM TGO LobEYIsdo?
Select one:

a. borm@mbo

b. 9.(0

C. XMoo

d. obo

€. 90

f. 35¢0

Question 18

F doeols dog® d_-;r' 3999 PO0 05D JglcrmegdIero 3FoMmds Q9TMOMIGdS
RMOIMNWO”:

Select one:

a. A= Fif

b, dA = (F - d3)

c A=F-dv

_f
d.jl_ 2

Question 19

399050000 ) 33o60: "0BMmomgde LoLEHsdo Jodobsmy 3GMMmEgLYdOL
99092500 9596200l ghmo Lobg Fgodangds Fgogoeml olg, MM 56 dsdmofjzoml
39mM9 Lobob 96gMAO0L (33¢0EgdS s LOLEJIOL LEWo 9BxMROs SGRIL ddogo”.
Select one:
a. 9360

b. 3983s®030

Question 20
F90056>0@05 0099 (300960
#8590l 3560HboLOL M508g LoTsoEsb dolo 3mEHIbE0MMO 9bgMYos 56 033WYdS

Select one:
True

False


http://testing.gtu.ge/filter/tex/displaytex.php?texexp={(SI)}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{F}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{ds}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/vec{A}%3D{F}/vec{v}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA%3D(/vec{F}/cdot d/vec{s})
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D{F}/cdot{dv}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D/frac{F}{s}
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Question 21

dm39999wo 259mbobmEg09d0@sb, MMIgEo 2odmbobogl h 10>V S6
0530LMBOE 35Mboo Lbgmwolmgol d9dsbozmemo gbgMaool 31dozmdol 356mbL
(U 560bL B5gbodsEo LokdsMy):

Select one:

a. Mgh = -
b. Mgh = mT”E
c. mh =
d. mgh = gv
Question 22

Q3LOMEgo 2963 Fgds -
doeol 653653l doerols dbseBg gfimgds ----- .

Select one:

a. 093mbol dmdgb@o
b. dsewol dmdgbEo

C. ds¢ol 033wlbo

d. 0bg®Eool dmdgb&o

Question 23
®b930000 IMIO>MBOL TobLOsMGdGO LOOEYJB0s (dMmbodbgm 3 3sLvmbo):

Select one or more:

a. 533WoGs
b. 39®omwo

C. bLobdotg
d. dsbo

€. 0037wbo

Question 24
35603mboemo MHg30L gobEHmegds 459molobgds mMIMom:

Select one:
de __
a.dt — ~ %o

dix . L
b. diz — —uw,T

d*z w
C. dt2 T

da P
d.dt — —Wel


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=h
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh%3D/frac{mv}{2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh%3D/frac{mv^2}{2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mh%3D/frac{mv^2}{2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=mgh%3Dgv
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{dx}{dt}%3D-/omega_ox
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{d^2x}{dt^2}%3D-/omega_o^2x
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{d^2x}{dt^2}%3D-/frac{/omega}{x}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/frac{dx}{dt}%3D-/omega_o^2x
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Question 25

4m39e0 39MH0meo (MHg30m0) 3OmiEgLoL ogMEgEgdsl LogMgdo J9M3IZ9IE0
LoBdsmoo 9fmegds:

Select one:

a. 39095Y0GS
b. ®oswws

C. ®bggzs

d. 3mdG5mds
Question 26

QLM b3 Gds:
0Q95IM0 9HM©gds oLgm 3998350 Lombgl, HMIWol 139bgdl JmMols ---

Select one:

a. bobybo LabHYyeo LoOYs
b. bsbmbl saowo s®s 543

C. bsbybo MlslOMEM© OO

Question 27

05 OOML IM3bEMIdL 550 3 Loa®dol 30M5dOL 53wl 50 3 Log®dol
353509090, 0y Jobo LobdeMgs 18 38/bm? (3gwdo RsfgMgm dbmeme
Goisbgo, dsp. 1,23):

Answer:|

Question 28

90m0 §OR0L 25LF30M03 9HMO 805M0)gd00 IMIMSMIL MO0 5MSMYISPO
dIOMNES, HMIGEm FoLIBdO BHMEO0s. JOHMO dOHMYsl LoBdsmgs 409/§0,
39mO9 dODYsl LoBdoMgs 12 3/(8. oxsbgdol 898wy dwyOMYEgdo
00mdM539096 LagMomm LoBds®om, MMIol Lo Gmeos (39wdo
Bofg®gm dbmermo Gogbgo, doy. 1,23):

Answer:|

Question 29
38 33 9s5Lob bbgmeo 03yma3gds @oy@do, GMmdgwos dmd®omdl

39030355 9393000 4 3/ 5BJ509d0m. 0530LvBIWO 35GHEBOL



5BJotgdss 10 3/§3%. Lbgoeool fmbs 04690 (3980 Rsfigdgom dbmeme
Gogbgo, dsy. 1,23):

Answer:|

Question 30

Mol Mol gardsgzerol Loddwrsg®mg, v 0go 3MOODBMOEE IO aBSBY
3639/ LoBJoMoo 53MIMe3gdL 90E). Fobol BoEsMgdgel.(g =1008/(a2,
bobmbob 3mgz03096¢0 0.005). (39edo BsfgMgo dbmemo Mogbgo, dsy:
1234)

Answer:|

Question 31

09000 sLEOMEgdlL 3omTMborer b9zl Frmbobfim®mMmdol 3gdscmgmdosb
0.23 2505bM0ob OML dolo Lobdsmgs 79/{d. 303mzmm dgMbgzo bbgrmeol
Lo 999560360 96960, 0wy k=4000/(0 oo M=0.133.( g3gedo
BoPg®gom dbmermo Gogbgo 39590l LoblGHom, doy: 1.23)

Answer:|

Question 32

0MAYI0 GowMs 3M39Yds X- 09gMdol s©gd0mo J0dsMMMEGI00)
AO©Oobl 356EMEgdsl 5Jgb Lobg: $=15c0s(780mt-37X). 356LsBLZMgm
Gool Lobdomg. ( 39do hsfigMgm dbmemo Gogbgo. doy: 1.23)

Answer:|

Question 33

M AHYJO GO MS 3039 YOS X - 0¥9MAoL ©JOI0O F0TMIYWIO00D.
Go©ob 356EMeqdsl 593l 99090 Lobg s=12cos(4157t-0.87x),
296L5BOZOIM BHo®ol Loa®dg (39wdo RsfigMgm Fbememo Mosbgo, 35y.
1,23):

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/pi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/pi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/pi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=/pi

